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QUANTITATIVE ANALYSIS AND
BUSINESS MATHEMATIS

Time:3 Hours] =~ -+ = [Maximum Marks : 100

Note :— (i) Attemptall sections.

(i) Section A carries 20 marks sect1on B carries
30 marks and sectlon C cames 50 marks

‘ SECTION A \
1. Fill mthe blanks All parts are compulsory = 20%x1=20
(@): If ASB, then ANMB~Z i

At 0 nl2 1] |
(b) .~ If 2 3 4 9 | then A+ B =
; (cj! Skewnesms deﬁﬁed as deijartuie from ........ - .
(d)  If mean> mode then chstnbunon 18 e,
..skewed L '
(e) If B,=3, thendistribution curve s ......
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If correlation is negative perfect, thenr=.........cccewres

If 8 x— 10y=68 is linc of regression of y on x, then
its regression coefficient is ..........cccoveeeeee -

If standard déviatjon of datais 2, then its variance is
equal to ....ccveeeerenne et s

Standard deviation is POSItIVE .....ccoeireerenence. of
variance. '

If a, b, ¢ are in arithmetic progression, then

AT CT e .

In Poisson distribution mean ........ooeeeeemeunee variance.

If pand q are probabilities of success and failure of
aneven, thenp+q=..coevcimiennnee .

If A and B are ‘independent events, then
PANB)= e, )

The median of numbers 4, 10,7, 15,7, 3, 5,3, 7

I8 e .

If first term and common ratio of a G. P. are equal to
1, then 9™ term is ..iveomneeeenene .

‘InL. P. P; the objective function and constrants

2 1 o . .

For the regression line y=a -+ bx, (which is the line of
regression of y on x) the regression coefficient and
slope are ......ccccvvverneenees .
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() If universe of amatrix exists, then number of rows
and number of columns in the MAIX AT .....vurveererrsrivens

(s) Histogram consists of rectangles erected with bases
equal to length of .......ccceenneeee. of frequency
distribution. :

() A frequency curve is a smooth shape of frequency

.......................

SECTION -
Note :— Answer any three questions outoffive. ~ 3x10=30
2. Provethat:
@ AUB=BUA
() ANB=BNA
3. Draw the frequency polygon from{thn‘e following data :.

Classes | 0-10 | 10-20 | 20-36| 30-40 | 40-50 | 50-60

Frequency| 6 12 16 18 | 8 4

4. Find the arithmetic mean of the following data

Classes 10-20 | 20-40 | 40-70 | 70-120 | 120-200

Frequency 4 10 | 26 8 2

5. Write short note on linear programming,

6. What is the probability that a leap year selected at random
contains 53 Sunday?

[P.TO.
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.SECTION-C
Note :— All qués'ﬁo'ns arecompulsory.  12%x4=50
7. (@) Define: | '
@ Mem
(i) Median
@) Mode
| " OR

() IfA={2,3,4, 5},B={4,5,6,7}andC={2,6,7}
then find :

® AUBNC)
@ AUB
@) AUC
V). A-B ‘
W "B'—A'-',j o
8. () Findthe inverse of the matrix:

— =
u\w, o

12
| . .OR )
(b)  Explainbinomial distribution and Poisson distribution.

sl
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10. (a)
(b)
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If Q,, Q, and Q, of a distribution are 97.85,111.6
and 123.44. Find the coefficient of skewness. Also
comment about the distribution curve.

OR

- Explain arithmetic progression, geometric progression
-and harmonic progression.

Define coefficient of correlation and rank correlation.
OR

Out of 500 car owners investigated, 400 owned
Fiat cars and 200 owned Ambassador cars and 50
owned both Fiat and Ambassador cars. Is this data
correct?
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